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Answer any ten of the following.
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Economic Development.
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Absolute poverty.
AT, WHEES.

Static equilibrium.
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Poverty line.
WESB Tead.

PQLI.
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Big push.
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Capital output ratio.
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Real National Income.
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i) International commodity arbitrage.
08T~ Ty, 0 FTB WO 0TI ?

j) Subsistence wage rate.
23eWIGT BRO TT.

k) Minimum standard of living.
BT, 230 308 .

l) Income inequality.
STROT LRBRIS.
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Answer any five of the following. (5%x6=30)

O3NR)TTTN aod% SUZOR.

2.

Explain Adam Smith’s theory of development.
30 3T SRR 0 AT OZER, STOR.
@ @ 2K

Examine unbalanced growth theory.
WRRZRCOT WHBIR 108N TOES,

Discuss the theory of “Big Push”.
LT BT 2)6%0355’)2{ 3SR

Critically analyse Schumpeter theory of development.
BO0QCEIT' TRT @2@%@@ AT, oédsgt 8365 BN QD LRAR.

Write a note on Human Development Index.
BRIT LPFQ AR 0ET Ny 2,003 €33¢9 WD,

Give reasons persistance of absolute poverty in developing economics.
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8. Explain the theory of balanced growth.
RRBRCVT LTSN AT 0B RO

9. Discuss international development Gap.
@o@m%eoja @&p%@@ @o@dﬁ;’pﬂ BB 233
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Answer any two of the following. (2x10=20)
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10. Discuss the evolution and problems of measures of economic development.
laka @w:g)%oja VRTINS BAT WO ﬁdsz’éﬁ@@t BOOD WI3FA.

11. Explain circular and cumulative causation theory of economic development.
238,000 203 R0LdS TR SHFT @?;)e%@p %Cs%oédsgl Q@O

12. Examine Harrod — Domar model of economic growth.

BR,0T° S0 BREIOIT*TRT SHFE LIFRE BRTOOIR), TOeSR.

13. What are the constraints on potential rate of development in developing countries ?
Explain.
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